Name Progression: Hard Year 3

Class

. Dividing by 8
16+8= [ | 32:8= [ |
24:+8= [ | 48+8= [ |
8+:8= 80:+8= [ |
40+8= — 96+ _ —

88+ J= 11 56+ |=7
[ )+8=8 +8=9

1) There are 96 pencils. They need to be shared equally
between 8 groups. How many will be in each group?

2) Theme park tickets cost £8. How many tickets can be
bought with £24?

3) Marcus has 88cm of rope. He wants to divide it into
pieces. How many pieces will he have?

4) 8tiles cost £56 to buy. How much will 10 of the tiles _

cost to buy? o \
« Sticker !

\\ s
How confidently can you Your Score N
divide by 8?

Not confident  Fairly confident Very confident
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